

→ Defens = {IV} ✓

$$S_{21}, \rho_2 \frac{v}{r} \rightarrow S_{21} - \rho_2 \frac{v}{r} \quad \checkmark$$

$$\text{Min } g(u-v) = 11 \quad \checkmark$$

$${}^R g(u) = {}^R z \quad {}^R u^r - {}^R u - {}^R \rightarrow g(u) = u^r - {}^R u + 1 = (u-1)^r \rightarrow g \circ f(u) = ({}^R u - 0)^r \quad \textcircled{f}$$

$$\rightarrow \psi f(n) - (\psi f(n-1) - 1f) = f(n) + 1f = \psi_{n+1} \rightarrow$$

$$f(u) = \gamma u + f \rightarrow \gamma g(u) + f = \frac{\gamma}{a} u + f \rightarrow$$

$$g(n) = \left(\frac{-r}{a} n - r \right) \times \frac{1}{r} \rightarrow \frac{-1}{a} n - 1 = r_{n-1} \rightarrow \frac{-1}{a} = r \rightarrow a = \frac{-1}{r}$$

$$g(n) \geq r_{n-1}$$

$$f \circ g(x) = g^2(x) = x^2; 0 < x, g \circ f(x) = 2x \rightarrow x^2 - 2x < 0 \rightarrow \frac{x}{x-2} \quad (9)$$

$$\rightarrow [0, 2] \cap (0, +\infty) = [0, 2] \rightarrow x \in \mathbb{Z} \rightarrow x = 1, 2 \rightarrow \text{مجموعه جوابها} \quad (2)$$

$$f\left(n - \frac{1}{n}\right) = n^2 - f\left(\frac{1}{n}\right) + n - \frac{1}{n} \rightarrow f\left(n - \frac{1}{n}\right) = \left(n - \frac{1}{n}\right)^2 + n - \frac{1}{n} \rightarrow n - \frac{1}{n} = A \quad (5)$$

$$f(A) = A^2 + A \rightarrow f(x) = x^2 + x \quad \checkmark$$

$$D_{f \circ g(x)} = \{x \mid x \in D_g \wedge g(x) \in D_f\} \rightarrow D_f = (0, +\infty), D_g = \mathbb{R} \rightarrow \quad (1)$$

$$0 < 1x - x^2 \rightarrow \frac{x}{1+x} \rightarrow (0, 1) \cap \mathbb{R} = (0, 1) \cdot D_{f \circ g(x)} = A \quad (2)$$

$$f \circ g(x) = \lg_{\frac{1}{2}}(x - x^2) \rightarrow \max_{x \in \mathbb{R}} (x - x^2) \xrightarrow{x=1/2} (1/4) \rightarrow \lg_{\frac{1}{2}} \frac{1}{4} \rightarrow R_{f \circ g} = (-\infty, 2] \cup B$$

$$\rightarrow A \cap B = (-\infty, 2] \cap (0, 1) = (0, 2] \rightarrow x \in \mathbb{Z} \rightarrow x = \{1, 2\}$$

$$f(x) = k \rightarrow f(k) = 1 - 2k^2 \rightarrow f(x) = 1 - 2x^2 \quad (9)$$

$$h(g(x)) = (x-1)^2 + 2x - 1 = 1 - 2x^2 \rightarrow -2x^2 - 2x + 2 = x^2 - 2x^2 + 2x - 1 \rightarrow \quad (2)$$

$$x^2 + 2x - 2 = 0 \rightarrow \text{یک جواب} \quad \checkmark$$

$$g(x) = 1 \rightarrow f(x) = x \rightarrow x = -1 \rightarrow -a - 2 = 1 \rightarrow a = -3 \quad (1) (10)$$

$$x - \frac{x}{x} = x \quad x^2 - x - 2 = 0$$

$$x = x \rightarrow 4x + 1 = 1 \rightarrow a = 0 \quad \checkmark$$

$$x = -1 \quad \checkmark$$